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3. tanA =05, sinA+cosA 2] F22(F, 0°<A<90°)
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4. sinA=0.6 % T, cosA +tan A & S FotA? (T, 0°<A<90°
)
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6.  sin30°sin 60° 4 cos 30° cos 60° + cos 45° sin 45° 2] ZF-&?
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& IHoA AC = 12cm , /B = 60°
d o, 2442 ABC o =89] Z4o]

=9

@ 12(V2-1)cm
@ 12(V2+1)em
® 6(V3+1)cm
@ 12(V3+41)cem
® 12(V3-1)cm
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@ 0<cosx<1

@ -1<tanx<0

@ 0<sinx<1

® -l1<sinx<1

@ 0<tanx<1
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227 (F 0°<A<90°)
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@O A9 o]l AXH tanA ] = A}
@ A9 ghol AW cosA S| Y= AL
® A9 Fto] AR sinA o] = At
@ sinA°] FAZE2 1, &2 00},

® tan90°9] g2 A 4= giot



12. A+B=90° (%, A>0° B>0°)% o, tt

@ cos(90°—A) =sinA
@ sinA+cosB=1

31 A
® tanA = o

0s A

o

T =A%

@ sin?A +cos?A4 =1

@ tanA+tanB=1



13. 0°<x<45° €™, \/(1-tanx)? o] 3t2?

@D 1-tanx @ tanx+1 @ tanx -1
@ 1 ® 0



14. /C 7} 2741 A7 ABC ol AB =2, BC =12 &

(sin B + cos B) (sinA — 1) 9] 27

@_g @_1+4\/§ @_1+4\/§
1+243 3V3
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(sin) (cos) (tan)
52° 0.7880 0.6157 1.2799
53° 0.7986 0.6018 1.3270
54° 0.8090 0.5878 1.3764
55° 0,8192 0.5736 1,4281

D 1.1932
@ 1.1935

@ 1.1933 @ 1.1934
® 1.1936
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Zte sin cos tan
44 0.6947 0,7193 0,9657
45 0.7071 0.7071 1.0000
46 0.7193 0.6947 1.0355
@ 1.022 @ 6.947 ® 7.071

@ 9.567 ® 10.355



17, ohe AZAZRNA x, y ©] 32 Fof
olgsto] t7hul 2 Lhehd AL

® x=5sin20°,y= sin520‘°
@ x= tanZQOO ,y=5si220°
@ x= tan520° YT cos520°
@ x= c0s20° "7~ sin20°
® x= > >

~ tan20° *° T sin20°
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ku)

S 7472 ABC oA /A =34° 4
o, 0] BC & #ot9H? (&, sin3d4° =
0.5592, cos 34° = 0.8290 )

@ 20.141 ¢m @ 21.523cm

@ 22.368 cm @ 23.694 cim

® 24.194cm



19. o= ™A x 9o gh2?

D 7+8V2 @ 7+8V3 ® 8+8V2
@ 8+8V3 ® 9+8v2
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4
D x= 4tzn23° Y= si£123°
@ x= sin423° ¥ = tan423°
® x= sin 23° ’ y= cos 23°
ﬁ Y = 4sin423°

® x=4tan23° ,y=

sin 23°



21.

the I8 8 AABC 94 AB = 4cm
,BC =8cm, /B=60°<4 o, AC 2] Zo]

=7
@D 43cm @ 5v3cm
® 6V3cm @ 5v2cm

® Tcm







23. S 1Y & AABC oA AB = 6,
BC =100°]2, Yol7t15v3 & o, /B 9]
27127 (2 90° < /B <180°)

O 95° @ 100° @ 120°

@ 135° ® 150°



24. g 190 47| Yol S £A 7@
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@D 24cm? @ 242cm?
® 24+3cm? @ 48cm?

® 48+v2cm?
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@D 41V2 @ 4242 O 432
@ 442 ® 452




® 54 @ 46 ® 56 @ 48 ® 60



